[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

10
1.2

Ratio

1.1
1 : .
1072 107 1

10 0?
TP vertr (cr%)

—=— DQMstep3_SMS_CKF

Effici —e— DQMstep3_SMS_default
ICIeNd _,__ pQMstep3_SMS_ckfPixelLess

N 0.
R R R
w0 . . . . .
L R e R S0 K
> : : : : :

2 : : : : :
TRl S S A
= : : : :

e | R I S R R 25
O . . . .

0.05f- {1 -Ha- oot
0.04F 4] -F- -
0.03f-

0028 A HH

0.01}-1t-§{14 !
o Optfb
= ] 1
X 1.5f - !

30 -20 -10 0 1 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05 .
> P P P :
00.045 : H R A cTTTTT R e
IS : : : : : :
L e A
9.035
f2)

c 0.03
@
8.025
(0]
0.02 :
T o
0.01F---: RS TRIRER AT 4

0.005

Ratio

20 -5 =10 -5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


